OMB Control No. 0579-0327 25-Jun-18

							0579-0327		
Form No. or Other Identification	Total Annual Responses	Avg. Time Per Responses	Total Hours Per Year		Involved in the ion Collection*	Program Costs	Overhead Costs	Total Costs	Remarks
			(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)	
(A)	(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)	(I)
Application for use of More than one Official Device - Approval	416	0.08	35	14	\$60.40	\$2,085	\$290	\$2,375	
Application for Use of More Than One Official Device - Recording Information	416	0.25	104	5	\$19.56	\$2,034	\$283	\$2,317	
Application/Approval of an Approved Tagging Site - Review Application	1,100	0.80	88	13	\$51.11	\$4,498	\$625	\$5,123	
Application/Approval of an Approved Tagging Site - Evaluation	1,100		,		\$29.64	\$8	\$1	\$9	
Evaluation of States and Tribes - Preparation	1	8.00	8		\$60.40	\$483	\$67	\$550	
Evaluation of States and Tribes - Records Analysis	1		8		\$51.11	\$409	\$57	\$466	
Evaluation of States and Tribes - Recording Information	1	4.00	4	5	\$19.56	\$78	\$11	\$89	
Documentation of Completion of Performance Measures - Evaluation	1	4.00	4	14	\$60.40	\$242	\$34	\$275	
Documentation of Completion of Performance Measures - Recording Information	1	2.00	2	9	\$29.64	\$59	\$8	\$68	
Commuter Herd Agreement	1,280	1.00	1,280	9	\$29.64	\$37,939	\$5,274	\$43,213	
Collection of ID Devices at Slaughter - Preparation and Review of Procedures	1,280	2.00	2,560	9	\$29.64	\$75,878	\$10,547	\$86,425	
Collection of ID Devices at Slaughter - Recording Information	260	1.00	260	5	\$19.56	\$5,086	\$707	\$5,792	
Collection of ID Devices at Slaughter - Analysis and Reporting	4	4.00	16	13	\$51.11	\$818	\$114	\$931	
Obtaining Official Eartags for Cattle not Currently ID'd - Shipment Preparation	18,860	0.50	9,430	9	\$29.64	\$279,505	\$38,851	\$318,356	
Obtaining Official Eartags for Cattle not Currently ID'd - Record Review	12	2.00	24	9	\$29.64	\$711	\$99	\$810	
Official Identification Device Distribution Records - Tags Issued	1,300	0.17	221	9	\$29.64	\$6,550	\$911	\$7,461	
Official Identification Device Distribution Records - Tags Applied	1,000	0.17	170	9	\$29.64	\$5,039	\$700	\$5,739	
Official Identification Device Distribution Records - Recording Information	18,860	0.50	9,430	5	\$19.56	\$184,451	\$25,639	\$210,089	
Official Identification Device Distribution Records - Evaluation of Systems	12	1.00	12	9	\$29.64	\$356	\$49	\$405	
Certificate of Veteinary Inspection	287,500	1.00	287,500	9	\$29.64	\$8,521,500	\$1,184,489	\$9,705,989	
Removal or Loss of Official Identification Devices - Approval of Replacement	500	0.08	40	14	\$60.40	\$2,416	\$336	\$2,752	
Removal or Loss of Official Identification Devices - Recording Information	500	0.08	40	5	\$19.56	\$782	\$109	\$891	

OMB Control No. 0579-0327 25-Jun-18

							0579-0327		
Form No. or Other Identification	Total Annual Responses	Avg. Time Per Responses	Total Hours Per Year		Involved in the on Collection*	Program Costs	Overhead Costs	Total Costs	Remarks
			(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)	
(A)	(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)	(I)
Reporting for Lost tags / Retagging Animal Records	125	0.08	10	5	\$19.56	\$196	\$27	\$223	
Review of Premises ID Records	80,000	0.50	40,000	5	\$19.56	\$782,400	\$108,754	\$891,154	
Review of Nonparticipant Registration	100	0.50	50	5	\$19.56	\$978	\$136	\$1,114	
AIN Device Manufacturer Application (All Tags)	7	2.00	14	14	\$60.40	\$846	\$118	\$963	
AIN Device Manufacturer Updates (All Tags)	975	1.00	975	14	\$60.40	\$58,890	\$8,186	\$67,076	
Maintain list of authorized manufacturers	4	0.50	2	9	\$29.64	\$59	\$8	\$68	
AIN Device Manager Agreement (All Tags)	490	1.00	490	14	\$60.40	\$29,596	\$4,114	\$33,710	
AIN Device Manager Updates (All Tags)	24,500	1.00	24,500	14	\$60.40	\$1,479,800	\$205,692	\$1,685,492	
State /Tribe/Territory Implementation of Cooperative Agreement (including quarterly reports)	70	10.00	700	14	\$60.40	\$42,280	\$5,877	\$48,157	
1890s, 1994 Land Grant, Tribal, Hispanic outreach/educationcooperative agreement (including quarterly reports)	10	10.00	100	14	\$60.40	\$6,040	\$840	\$6,880	
Review of ADT Road Maps by Assistant Directors	54	2.00	108	14	\$60.40	\$6,523	\$907	\$7,430	
Final Review/Approval of Road Maps by District Office	54	1.00	54	14	\$60.40	\$3,262	\$453	\$3,715	
Receive and record tag orders from States and Tribes	156	0.25	39	9	\$29.64	\$1,156	\$161	\$1,317	
Receive and record tag orders from Businesses	1,366,925	0.25	341,731	9	\$29.64	\$10,128,914	\$1,407,919	\$11,536,833	
Program Site Tag Information Sheet	9	0.50	5	9	\$29.64	\$133	\$19	\$152	
Record of tags issued to field employees - database entry	200	0.17	34	5	\$19.56	\$665	\$92	\$757	
Record of tags issued to field employees - data collected	1,000	1.00	1,000	9	\$29.64	\$29,640	\$4,120	\$33,760	
Record of tags issued to field employees - data recorded	1,000	1.00	1,000	5	\$19.56	\$19,560	\$2,719	\$22,279	
Maintain list of States and Tribes offering NUES tags to Producers on APHIS Web site	4	1.00	4	9	\$29.64	\$119	\$16	\$135	
Eartag disribution plan - receive report from States	45	0.25	11	14	\$60.40	\$680	\$94	\$774	
Eartag disribution plan - receive report from Tribes	5	0.25	1	14	\$60.40	\$76	\$10	\$86	
Manage inventory at warehouse	260	1.00	260	9	\$29.64	\$7,706	\$1,071	\$8,778	
Provide Tribal-specific codes	2	0.17	1	9	\$29.64	\$30	\$4	\$34	
Oversight and review of State and Tribal Distribution Records and Inventory Control	4	8.00	32	9	\$29.64	\$948	\$132	\$1,080	
Receive report of lost, stolen, or misused tags	668	0.17	114	14	\$60.40	\$6,859	\$953	\$7,812	
Record report of lost, stolen, or misused tags	668	0.08	53	5	\$19.56	\$1,045	\$145	\$1,191	
Removal of eartags - receive and approve request	208	0.17	35	14	\$60.40	\$2,136	\$297	\$2,433	
Removal of eartags - record request	208	0.08	17	5	\$19.56	\$325	\$45	\$371	
DHIA eartag distribution plan - approval and written agreement for block of numbers to be used	50	1.00	50	14	\$60.40	\$3,020	\$420	\$3,440	

OMB Control No. 0579-0327 25-Jun-18

Form No. or Other Identification		Total Annual Responses	Avg. Time Per Responses	Total Hours Per Year		Involved in the on Collection*	Program Costs	Overhead Costs	Total Costs	Remarks
				(B x C)	Grade (GS)	Avg. Hourly Rate	(D x (E.2))	(F x 0.139)	(F + G)	
	(A)	(B)	(C)	(D)	(E.1)	(E.2)	(F)	(G)	(H)	(I)
	VS 1-63, Location identification system implementation request	25	0.50	13	14	\$60.40	\$755	\$105	\$860	
	DHIA recordkeeping system review and approval	50	1.00	50	9	\$29.64	\$1,482	\$206	\$1,688	
	Receive DHIA monthly report of records	50	0.25	13	9	\$29.64	\$371	\$51	\$422	
Totals				723,801			\$21,747,418	\$3,022,891	\$24,770,309	

APHIS FORM 79

<sup>\*</sup>Includes field and headqarters personnel.

\_